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KENDRIYA VIDYALAYA RRL JORHAT
AUTUMN BREAK HOME WORK 2022-23
CLASS- VI SUBJECT- MATHS

Q.1.  Match the column B with A and C:

A B C
(a) Straight angle | (i) An angle whose measure | (f) One fourth of a
is less than 90°. revolution.
(b) Right angle (i) An angle whose measure
is between 90° and (g2) Half of arevolution.
(c) Acuteangle 180°.
(iii) An angle whose measure | (h) More than half a
(d) Obtuse angle is 180°. revolution
(iv) An angle whose measure
(e) Reflex angle is 90°. (i) Less than one-fourth
(v) Anangle whose measure of a revolution.
is between 180° and (j) Between # and 3 of a
360°. revo- lution.

For example (a) O (iii) 0 (g)
Q.2.  Asailor is rowing a boat due north. In which direction will he be rowing if he turns
it through

(i)  astraight angle (ii) acomplete angle

Q.3.  Youare standing in a class-room facing north. In what direction will you be facing
after making a quarter turn in clockwise direction?

Q.4.  Werite five capital letters of the English alphabet which show perpendicular
lines/line
segments.

Q.5.  Identify the following triangles according to the measurement of sides and angles
given. Also mention the type of triangle :
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6 cm
)

12 cm

8 cm

10 cm

4)

8 cm

(6)

8.4 cm
6 cm

=
3}
o

6 cm

(7)
8.8cm

M
4cm
(5)

7 cm

4 cm

5cm

10 cm

(e.g. (1) AABC is an equilateral triangle and acute angled triangle.

Fill in the blanks :

(a)
(b)
(©)

angle.

Each angle of a rectangle is a

sides of a rhombus are of equal length.

, there is only one pair of parallel sides.

Ina

sides of a rectangle are equal in length.

The

(d)
(e)

()

A rhombus with four right anlges is called a

The polygon with least number of sides is
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Q.7.  Complete the following table :
(One is done as example-

sphere)

Shape Example Number of Number of Number of
faces vertices Edges
(1) | Cuboid — — — —
(2) | Cube - - - -
(3) | Triangular - - - -
pyramid
(4) | Sphere Football No face No vertex No edge

Q.1. Write 'True' or 'False’ for the following :
(1)
0°c" (ii) 8> (-10)
Gii) |-2|=2
Giv)y |-4-2]|=-
6(v) (-3)>(-3)
Fill up the blanks :
(i)
(i)
(iii)
(iv)
v)
Subtract (-25) from the sum of 15 and 35.
Add the sum of (-2063) and 562 to (-2063).
Simplify :

(i)  (-50) + (-200) - (-500)
(iii)) (24 +6)+(-3)

(v) 12-{16-(6+2-6=3)}
Write additive inverse of :

(i) (-6347) ) O

-20° C represent temperature "above

Q.2.

Integer which is neither positive nor negative is
Predecessor of (-99) is

| -26-14 | =

Successor of (-100) is

Largest 3-digit negative integer is

Q.3.
Q4.
Q.5.
(i)
(iv)

23 - (-15) + 12
19 + {10 = (7 - 9)}

Q.6.

(iii) 4231 (iv) 2132-132  (v) -10-5

I IRietal I

-5-4-3-2-1

1

0
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Q.7. Observe the number line given above and answer the following :
(i)  What is the position of Reeta on the number line?

(i)  What is the position of Seema?
(iii) What is the distance between Reeta and Seema?

KENDRIYA VIDYALAYA RRL JORHAT
AUTUMN BREAK HOME WORK 2022-23
CLASS- VI SUBJECT- SOCIAL SCIENCE
1. What are the different ways to find out about the past?

2. The earliest man move from one place to another. Do you know Why?
3. Describe the process of domestication of plants and animals.
4. On an outline map of India mark and label the following:

(i) Garo Hills

(ii) Vindhyas

(iii) River Narmada
(iv) Bhimbetka

(v) Hunsgi

(vi) Kurnool Cave
(vi) hadappa

(vii) Chanhudaro
(viii) Kalibangan
(ix) Rakhi Garhi
(x) Imamgaon

(xi) River Satluj

5. Write about the planets of our solar system.

6. Why does the Southern Hemisphere experience Winter and Summer Solstice in different
times than that of the Northern Hemisphere.

7. Distinguish between discrimination and stereotypes.

8. What are the different reasons for discrimination taking place?
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KENDRIYA VIDYALAYA RRL JORHAT
AUTUMN BREAK HOME WORK 2022-23
CLASS- VI SUBJECT- SCIENCE

In the seq, plants and animals are surrounded by saline (salty) water. Most of them use the
air dissolved in water. There is very little water available in the desert. It is very hot in the
day time and very cold at night in the desert. The animals and plants of the desert live on
the desert soil and breathe air from the surroundings. The sea and the desert are very
different surroundings and we find very different kind of plants and animals in these two
regions. Let us look at two very different kind of organisms from the desert and the sea - a
camel and a fish. The body structure of a camel helps it fo survive in desert conditions.
Camels have long legs which help to keep their bodies away from the heat of the sand. They
excrete small amount of urine; their dung is dry and they do not sweat. Since camels lose
very little water from their bodies, they can live for many days without water.

Let us look at different kinds of fish. The thing that is common in all fishes is their
streamlined shape, which helps them move inside water. Fish have slippery scales on their
bodies. These scales protect the fish and also help in easy movement through water. Fish
have flat fins and tails that help them to change directions and keep their body balance in
water. Gills present in the fish help them to use oxygen dissolved in water.

What help fish to change their directions in water?

In water, plants and animals use the air that is dissolved in water. True/false.
Fish breathe through their ...
Describe the features that enable camels to survive in desert conditions?
How does the presence of Scales help fish to live underwater?

ART-INTEGRATED PROJECT WORK: Make a scrap book describing ANY TWO National
Parks and their natural Habitation and Adaptation.
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KENDRIYA VIDYALAYA RRL JORHAT
AUTUMN BREAK HOME WORK 2022-23
CLASS- VI SUBJECT- ENGLISH

1. Read the poem Vocation. Find out about different types of work done by different
people. Collect the pictures related fo four-five professions and write down the name
of the profession and paste the pictures on the English notebook. Paste 1-2 pictures
related to each profession. You can draw the pictures also.

2. Read the chapter 'Who I am’' and write who is your favourite among all 6 children
described in the chapter. Also give three reasons for it.
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